Logical Reasoning Question Bank

In the following figure small square represents the persons who know English, triangle to those who know
Marathi, big square to those who know Telugu and circle to those who know Hindi. In the different regions of the
figures from 1 to 4 are given.

3T & Bier a1t Sl o=+ are Jafaaal &1 ufafAfia BT 8, AdIun 37 arnl & forg ot iRTét o d &,
IS T Sl A S & 3R Thal I ol i) SiFa § | 3ricpel & fatm & # 1 ¥4 dp Ry U B

12 — English
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1. How many persons can speak English agnd Hindi both the languages only ?
forae AT haa SR ofR et Q1 HIwTE S Tl § 2
A5
B. 8
C. 7

D. 18
2. How many persons can speak Marathi and Telugu both ?

e aferd TRTSY IR e &R B St Wbl € 2
10

|>

|

11

|©

13

D. None of these

3. How many persons can speak English, Hindi
and Telugu ?

feperl safer afdrol, fedt IR degy ol Webdl € 2

A. 8
B. 2

c. 7
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D. None of these

4. How many persons can speak all the languages ?

gt 4TS fham safad i Ihd @ 2
A1

B. 8
C. 2

D. None

5. Which of the following diagrams indicates the best relation between Hospital, Nurse and Patient ?

PrafeiRd & @ S T RE SRUdTd, 1 3R A7 & S T 3T Gaiy Sl & 2

. &

.

.
@O

6. Which of the followmg diagrams indicates the best relation between Mercury, Zinc and Metal ?

frafafed & 9 & a1 s uRT, SRar 3R 41 & o Ted 3T Jae -ATar § 2

.
c QO
@

7. Which of the following diagrams indicates the best relation between Teacher, Writer and Musician ?
Fafefad

T QA BI T AR e, SR 3R TTITHR b S T ST Ty STell & 2

e
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Directions (8 - 12): In each of the following questions, a word is represented by only one set of
numbers as given in any one of the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabet as in the two given Matrices. The columns and row of
matrix - | are numbered from O to 4 and those of matrix - [l from 5 to 9. A letter from these
Matrices can be represented first by its row and then the column number e.g. , in a matrices for
guestion 1to 5 M can be represented by 14, 21 etc.; O can be represented by 20, 32 etc.
similarly you have to identify the correct set for the word given in each question.

= (8 - 12): Fufaled Tde Uy H, T Ysg &) T-T & Hdd Ts e

GIRT =TT oI &, Sit o fonedt U fasey o foar mon g | fawey o fqu U et & Hg & quiTa
o <1 oIl GIRT <r=ITa T § O fah & oy e Afeey # 81 AT - 1| i plad SR Ufekd 09 4 T
ST & SR AT - 11 B 59 9 T | 39 AT & Udh 3HeR Pl Ugd 39! Ufdd gRT <=1 S Favell §
3R fhR By AR |

ICTER0T & foIg, Uy 1 ¥ 5 9% M & o Ueh AR I 14, 21 3n1fe &1 ufaffera fovar s 9ear §; o
@Y 20, 32 3N GRT ST ST YhT 81 ST aRE 3MMUD! TAS Uy H f3T 70 Tsg & forg Tt Ae ot
Ugar Dl g |

Matrix | Matrix Il
0 /12 3 |4 5/6(7/8|9
O/F [ O|M|S |R 5/|A|T|D[I |P
1S R|F O M 6/1 |[P/A|T|D
2/0/M|S |[R |F 7/T|/D|1 |[P|A
3/IR|F|O0OM|S 8/P|A|[T|D]|I
4 M|s |[R|F |O 9/D|I |[P|A|T
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8. MOST

(A) 40, 44, 22, 89

(B8) 33, 20, 11, 79

(c) 21, oo, 03, 88

(D) 02, 13, 34, 56
9. ROAD

(A) 42, 32, 79, 58
(B) 23, 32, 98, 99
(0 11, 13, 67, 69
(D) 04, 20, 55, 78

10. STOP

(A) 10, 56, 44, 97
(B) 41, 68, 01, 77
() 22, 75, 32, 86
(D) 33, 99, 42, 59

11. FOAM

(A) 24, 01, 55, 22
() 00, 01, 67, 33
(0 12, 13, 67, 23
(D) 43, 52, 56, 33

12. RAAM

(A) 40, 44, 22, 33
(B) 33, 55, 55, 02
(c) 23, 98, 79, 33
(D) 02, 13, 34, 02

13. Which symbol will be on the face opposite to
the face with symbol * ?

Udiep * & AU el W DI IT Udid I 2

@ @ * $




14. Two positions of dice are shown below. How
many points will appear on the opposite to the
face containing 5 points ?

R & & ”IF A QU MU § 1 5 3 ard s

¥ fawdia v g fead 2 2
A 3
B 1
cC 2
D 4

15. Which digit will appear on the face opposite to
the face with number 4 ?

§4%ﬁqﬂawwaﬁ={ww%@ﬁ

6

o O W »r

2/3

16. When the following figure is folded to form a
cube, how many dots lie opposite the face
bearing five dots ?

e b e S o fore Faferiad snepic ot
A fean San §, 41 uiw Sfey arefl Basd &
T fpa Sfea g € 2



Ll L
SEEE &lW
L]
L]

A 1
B 2
CcC 3
D 4

17. Choose the box that is similar to the box

18.

formed from the given sheet of paper (X).

39 a1 g il < 773 e (X) D1 e 4 5
e & I g
(x) (1) (2) (3) (4)
A 1land3only
B 1and4only
C 2and4only
D 3and4only
19 25@100 36@144
4 16 64
(A) 37 (B) 47
(C) 6 (D) 42

19.



20.
4 5 6
YOIRONIOL
2 3 4

(A) 54 (B) 45
(C) 35 (D) 53
21. Statement

All Male are Boy.

All Boy are Naughty.

Some Boy are Serious.

Some Serious are Naughty.

Conclusion

(A) Some Male are Boy.

(B) All Naughty are Boy.

(C) Some Naughty are Serious.

(D) All Male are Boy.

(1) If only Conclusion A & B follows.
(2) If only Conclusion B follows.
(3) If either Conclusion A or Conclusion b follows.

(4) If only Conclusion A & C follows.



(5) If All Conclusion follows.

22. Statement
Some Pencils are Pens.
All Pencils are Game.
All Pens aer Oats.
Some Oats are Trains.
Conclusion
(A) Some Trains are Pencils.
(B) Some Pens are Oats.

(C) Some Trains are Game.

(1) If only Conclusion A & B follows.

(2) If only Conclusion B follows.

(3) If either Conclusion A or Conclusion b follows.
(4) If only Conclusion A & C follows.

(5) If All Conclusion follows.

23. Statement
No Man is Women.
No Women is Chair.
Some Chair are Dog.
Some Dogs are woman.
Conclusion
(A) Some Woman are Chair.
(B) Some Chair are Man.
(C) Some Dog are Man.

(D) No Chair is Man.



(E) Some Dog are not Man.
(F) No Woman is Dog.

(G) Some Man are not Dog.

(2) If only Conclusion A,B,C & D follows.
(2) If only Conclusion E follows.
(3) If either Conclusion A or Conclusion b follows.
(4) If only Conclusion A,B,C & G follows.
(5) If All Conclusion follows.
24, Statement
Some Tables are Chairs.
Some Chairs are Bike.
All Bike are Bat.
Conclusion
(A) Some Bat are Table.

(B) No Table is Bat.

(2) If only Conclusion 1 follows.

(2) If only Conclusion 2 follows.

(3) If either Conclusion 1 or Conclusion 2 follows.

(4) If neither Conclusion 1 nor Conclusion 2 follows.

(5) If both the Conclusion 1 and Conclusion 2 follows.
25. Statement

All Pen are Pencils.

All Pencils are Eraser.

Some Eraser are Book.

All Books are Copy.

Conclusion

(A) Some Erasers are Pen.



(B) No Eraser is Pen.

(2) If only Conclusion 1 follows.

(2) If only Conclusion 2 follows.

(3) If either Conclusion 1 or Conclusion 2 follows.
(4) If neither Conclusion 1 nor Conclusion 2 follows.

(5) If both the Conclusion 1 and Conclusion 2 follows.

Directions (Q. 26- 27): Each of the given questions has a statement with two arguments | and Il represented. The
student had to make strong arguments and to make weak arguments.

89 (Q. 26-27 ): TRUTTE U U H Uop YT § F1P <1 adh 1 3R 11 el B 1 el o) Hofed deh U pAsiR dch
BSRINESERSI]

26. Statement: Should there be an upper age limit of 65 years for contesting Parliamentary Legislative Assembly
Elections ?

HYT: T HHG AT TRYE o FH1a dS- &1 SHehad 31 T 65 T8 FYiRd &1 ST a1fgy 2

Argument: /?F:%:

l. Yes, generally, people above the age of 65 lose their dynamism and willpower.

BT, HFId: 65 a9 U 31fed 31 % Safdd SO &HT T STSTRIad | ad g |

Il. No, the life span is so increased that people remain physically and mentally active even upto the age of 80.
a1, el BT SliaTemTe §¢ 7T § auT fad 8o a8 ot 39 d& i ARG duT ARie U I WRITE
THAT|

Give answer / 31X ?ﬂﬁi’r

(A) If only | argument is strong. /Cﬂﬁabdd | T Holdd %I

(B) If only Il argument is strong. /ZI'% Had Il Th Hyoldd %I

(C) If Either I or Il argument is strong./q'%tﬂ?‘ﬁ R2IN] a&nw{cr%l

(D) If Neither I nor Il argument is strong. /qﬁ:ﬁﬁ I '_-fé)[ I ?‘IéIIGIT{d%I
(E) If both | and Il argument is strong./qﬁl 3R a:hﬁtl\_ﬂq?‘f%l

27. Statement: Is buying things on installments profitable to the customer ?

HUT: FT TG B! ol & Tte1 U8 & o BradHe gian g 2



Argument: / qh:

l. Yes, he has to pay less.
Bl 3T RE U URH I 1 U4 Td B g1l |
Il. No, paying stallment upsets the family budget.

T2, foreal H oo 3 Y URAR & soie § T A 81|

Give answer/ 3T} Eﬁﬁlﬁ

(A) If only | argument is strong. /Iﬂ%ahdd | T Holdd %I

(B) If only Il argument is strong. /q—%a’)dd G2 Hyldd %I

(C) If Either I or Il argument is strong./tﬂ%W?‘ﬁ 14T ﬂ&qﬁ_{d%l

(D) If Neither I nor Il argument is strong. /U%:f?‘ﬁ I :r‘sﬁ I ﬁﬂﬁ@;ﬁ%l
(E) If both | and Il argument is strong./tﬁﬁl 3R a:hﬂ&qﬁlﬁﬁ%l

28. In which type of statement if one preposition is true the other will be false but if one is false the other will be
undefined ?

(a) Contradictory statement
(b) Sub contrary statement
(c) Sub alternation statement
(d) Contrary statement

29. If the statement "None but the brave wins the race" is false, which of the following will be definitely true ?

(a) All brave persons win the race.

(b) Some person who win the race are not brave.
(c) Some person who win the race are brave.

(d) No person who wins the race is brave.

30. If the preposition All men are poor is false, which the following preposition can be claimed to be true ?

(a) Some men are poor.

(b) Some men are not poor.
(c) No men is poor.

(d) No poor person is men.

31. Among the following prepositions two are related in such a way that way one is denial of the other. Select the
correct code.



(a) All girls are equal to boy.

(b) Some girls are equal to boy.

(c) Some girls are not equal to boy.

(d) No girls are equal to boys.

(a)a&b (b)a&d (c)c&d (d)a&c

32. If the preposition No women are honest is taken to be false, which of the following will be certainly true ?

(a) All women are honest.

(b) Some women are honest.

(c) Some women are not honest.
(d) No honest person is women.

33. Among the following preposition two are related in such a way that they can both be true both cannot be
false. select the right pair ?

(a) Some corona are virus.

(b) No corona is virus.

(c) All corona are virus.

(d) Some corona are not virus.

(a)a&d (b)a&c (c)a&b (d)c&d
34. Among the following statement two are contradictory to each other. Select the correct options.
(a) All white are cow.
(b) Some white are cow.
(c) Some white are not cow.
(d) No white is cow.
(a) a&b (b) a&c (c)a&d (d) b&c
35. If the statement All mens are smart is true which of the following statement is false ?
(a) No mens are smart.
(b) Some mens are smart.

(c) Some mens are not smart.
(d) All the smart are not men.

(@) Aonly  (b)a&b (c) a&c (d) b&c
36. If the Statement Some boy are cruel is false, which of the following will be true ?
(a) All boy are cruel.

(b) Some boy are not cruel.
(c) No boy is cruel.



(a) a&b (b) a&c (c)b&c  (d)only A

37. Both cannot be true at the same time but both can be false at the same time is-

(a) Contradictor statement.
(b) Sub contrary statement.
(c) Sub alternation statement.
(d) Contrary statement.

38. Both cannot be false at the same time but both can be true at the same time is-

(a) Contradictor statement.
(b) Sub contrary statement.
(c) Sub alternation statement.
(d) Contrary statement.

39. Both statements can neither true nor false at the same time ?

(a) Contradictor statement.
(b) Sub contrary statement.
(c) Sub alternation statement.
(d) Contrary statement.

40. If the universal is true then the particular will be ?

(a) True

(b) False

(c) Undetermined

(d) None of the above

41. If the particular is false then the universal will be ?

(a) True

(b) False

(c) Undetermined

(d) None of the above

42. If the Statement Some woman are honest is false which of the following will be True ?

(a) All women are honest.

(b) No women is honest.

(c) Some women are not honest.
(d) All women are Dishonest.



(a) only A

(b) only B (c) a&b (d) b&c

43. To which the term can be the sum total of the objects applied is it’s

Connotation
Denotation
Meaning
Function

44, Denotation is some as

Extension
Intension
Value
Dictionary

45. Determine the nature of following defination--Poor means having an annual income Rs- 1000

o 0 T o

Persuasive
Precising
Stipulative
Theoretical

46. Determine the nature of following definition. abortion mens the ruthless murdering of innocent being

o 0 T o

Lexical
Persuasive
Stipulative
Theoretical

47. When the purpose of definition is to explain the use or eliminate the ambiguity this is called

o 0 T W

Stipulative
Theoretical
Lexical
Persuasive

48. The definition that has a meaning that is deliberately assigned to some symbol is caused.

o 0 T o

Lexical
Stipulative
Pricising
Persuasive

49. ... definition is also known as definition by comprehension.



a. Lexical

b. Intensional
c. Extensional
d. Theoretical

50. If we are talking about the class member of term . this is known as.

a. Stipulative
b. Theoretical
c. Lexical

d. Extensional



